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QUESTION 1

You want to reject routes from any BGP peers that have prepended their AS path.
What is the correct as-path regex that would allow you to accomplish this task?
A. 65001.*

B. {2}

C. (65001|65001|65001)

D. .{0,1}

Correct Answer: D

QUESTION 2

You are asked to configure PIM-SM in your network. Your implementation must allow for load sharing between
redundant RPs and, should an RP failure occur, the RP failover time should be minimized.

Which two configuration tasks are required in this scenario? (Choose two.)

A. Configure MSDP peering sessions between the routers designated as RPs.

B. Configure the shared anycast address on the RPs as the primary address on the loopback interface.

C. On the routers designated as RPs, configure the shared anycast address on the loopback interface.

D. Configure at least two static RPs and bundle them in an RP redundancy group under [edit protocols pim].

Correct Answer: BD

QUESTION 3

You want to add a new OSPF area to your existing OSPF network, however, this area will not be directly connected to
Area 0. Which feature would you use to complete this task?

A. a routing policy

B. not-so stubby area
C. virtual link

D. Type 10 LSA

Correct Answer: C

QUESTION 4
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Click the Exhibit button.

userfPE-1> shcw configuration protocols byp group MEGP-INT
type internal;
local-address 10.22%2,.222.3;
family inet |

unicast;
H
family inet-vgn |

unicast;
!
neighbor 10.222.222.2;
neighbor 10.222.222.1;
neighkor 10.222.E222.4;

user@PE-1>* shcw configuration routing-instances CE-A-Z
instence-type wvri;
interface ge-0/0/2.0;
route-distinguisher 10.22Z.E5EZ2.3:E;
wri-target target:65511:101;
routing-optiorns |

statiec f

route 192.168.106.0/24 next-hop 19Z.168.6.2;

userfPE-2> shcow configuration protocols bap group MESP-INT
type internal;
local-address 10.222.222.4;
fawmily inet-vin |
unicast;
1
neighbor 10.222 222 . 2;
neighbor 10.222.22Z2.3;
neighkor 10.2EE2.E222.1;

userf@PE-Z>* shcw configuration routing-instanzes CE-&-1
instence-type wri;
intcocrface ge-0/0/9.0;
route—distinguishsr 10.E222.222.3:5%;
vri-target target:6511:101;
routing-optiors |

static |

route 192.168.100.0/24 next-hop 192.168.0.Z2;
i

Euto-export;

The customer\\'s hosts cannot communicate across their Layer 3 VPN. The exhibit shows the configuration for the two
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PE devices in the Layer 3 VPN.

What should you do to solve the problem?

A. Add the family INET unicast NLRI address family in the BGP group for PE-2.
B. Set the route distinguishers to be different for PE-1 and PE-2.

C. Add the auto export feature in the routing instances for PE-1.

D. Set the VRF target to the same value on PE-1 and PE-2.

Correct Answer: D

QUESTION 5

Click the Exhibit button.

RE1

//‘ R3
C AS BS001 AS E5002
F1 AS BE000 R

userfrouter# show protocola bhop

group route-reflector
type internal;
local-address 10.1.1.1;
export nhs;
cluster 10.1.1.1;
neighbor 10.1.1.2;
neighbor 10.1.1.3

.
r

H

ugerf@router# show policy-options policy-atatement nhs
term 1 {
then {
next-hop self:

!

You administer AS 65000, and have deployed a route reflector (RR1) in your network as shown in the exhibit. The traffic
between AS 65001 and AS 65002 is going through the route reflector, even though it is not the best path.

What will solve this problem?
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A. Change the LOCAL_PREF so that it uses the preferred path.
B. Remove the nhs policy.

C. Change the originator to be the preferred path.

D. Change the IGP metric so it is lower on the preferred path.

Correct Answer: B
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